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. Which of the following meters is an integrating type instrument?
(a) Ammeter (b)Voltmeter  (c) Wattmeter (9> Energy meter
2. Which of the following instruments is an integrating type instrument?
(a) Wattmeter ((bYEnergy Meter  (c) Power Factor Meter  (d) None of the above
3. Which one of the following types of instruments does suffer from error due to magnetic hysteresis?
(@) Induction type (b)Electrodynamics (¢)Moving Iron (d)PMMC iy fry O in MT v burwly
The eed 9 taly o 1yt seadMyg dae lqi;}«!.rrh)‘\u\ u w{y.—"? o el on D, ¢ T
4. To minimize the errors due to lead and contact resistance, low resistance used in electrical measurement work

are provided with
(a) Guard rings [b) Four terminals  (c) Thick insulation  (d) Metal shields

5. A 150 V moving iron voltmeter of accuracy class 1.0 reads 75 V when used in a circuit under standard
condition. The minimum possible percentage crror in the reading is: (lass § wmoowy g.hlhw\"h'tbl Qo (Y venp M
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6. Ina particular meter, the operating torque is directly proportional to the current passing through it, then the

type of meter is: -Ri & T
(a) Moving iron (byMoving coil (c) Electrostatic  (d)Induction
7. In inducting instruments the springs are mainly used to
——_ __ (a) Conduct the current to the coils  (b) Hold the pivot in position .-

—

(c)Control the pointer movement— (d)-Reduce the - vibration of the pointer -

e

8. To maximize the driving torquc in an induction type instrument, flux pro;.'lu‘cmc—a_l;y shunt coil and series. coil

should be
(a) In phase with each other  (b) In quadrature with each other

——

c)Displaced by 45° with respect to each other (d) Out of phase with respect to each other

9. Swamping resistance is used to compensaté error due to- : , . ; .
OF iy a vegistor Wk wewv myp.

(3) Stray magnetic ield  (b) Large supply voltage lotffeciend  pub i~ seafes wim
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(c) Large supply freqdency (g)/r e;ﬁperature _variations

10. If current through the operating coil of a moving iron instrument is doubled

(a) One and a half times (b) 2 times (c)3 times ((3)}! times
11. In moving iron instruments, the iron moves in a direction to cause

(2) Coil inductance to be constant  (b) Mutual inductance to be constant

\,ch Minimum reluctance path  (d) Decrease in the flux passing through it
Mo
IW -
12. A moving coil instrument has a resistance of 10Q and gives full scale deflection at 0.5 V potential
differences across it, How can it be adopted to measure a current up to 100 A

VA by
(aj/ By connecting shunt resistance of 0.005€2 across the meter f.¢.oak Lo A P~ vud v
dsro{wcnng shunt resistance of 0,050 across the meter R Y IS"' B | 5
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(¢) By connecting shunt resistance of 5€2 across the meter
(d) By connecting shunt resistance of 10£2 across the meter

(@
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20.
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13. Which of the following instruments has the highest torque/weight ratio among the given instruments?
(a) Attraction type MI instrument  (b) Repulsion type Ml instrument

(c) Permanent magnet moving coil instrument (\CD/E!ectrodynamometcr instrument

14. Moving coil (PNMC) and moving iron instruments can be distinguished by observing its.

(a) Range (li)/Scale (c) Size of terminals  (d) Poinler

I5. The scale of moving iron (M.I) instrument is-

(2) Uniform  (b)€famped (c) Linear (d) Al the above
Ccnp—rl-b
16. The controlling torque in gravity controlled meter is proportional to-

_ &QWM ?MW& v @ swadd
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17. To increasing the range of an a.c. ammeter you would use:
A potential transformer (b) An inductance across the motor

¢) A condenser across the meter @Cunent transformer

18. A d.c. voltmeter has a sensitivity of 1000Q/watt. When it measure half full scale in 100 V range, the
current through the voltmeter will be: S: \boon|y
1 ¢ = dmA
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19. Two voltmeter of (0-300 V) range are connected in parallel-to-a.c-circuits. One voltmeter is moving iron
type reads 200 V. If the other is PMMC instrument, its riding will be:

ImA ()PSmA (c)50mA (d)I00mA -

(ia)/Ze’ro (b)222V (c)127.4V (d) Slightly less 200 V

To increase the range of a voltmeter- 2 s
A low resistance is connected in series  (b) A low resistance is connected in parallel
high resistance is connected in series (d) A high resistance is connected in parallel

21. The multiplying power of the shunt of a millimeter is 8. If the circuit currentis 200 mA. Then current

5 P
through the meter us 7 %ﬁ mk Xy
-— - I
@/25mA (6)200mA (c) 1600mA  (d) 3200 mA - <\'Qr & 0o

22. In electrodynamometer ammeter, the deflection of the pointer is proportionnl to ~ S 0o

(a) Mean of currents in fixed coil -and moving; co;I (b) Square of the current in moving coil

(c) RMS value of current in fixed coil ~ (d) Mean -square of currents in fixed coil and moving coil

23. When a multiplier is added to an existing voltmeter for extending its range, its electromagnetic damping
(a) remains unaffected (b) Increase 9‘/) Decreases (d) Changes by an amount depending on the controlling torque

24. A voltmeter when connected across a D.C. supply, reads 124 V. When a series combination of the
voltmeter and an unknown resistance X is connected across the supply, the meter reads 4 V. If the resistance
of the voltmeter Is 50 k€2, the value of X is

Oy X
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